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Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg uel & IR <, UAS U & 9H 4B 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

79-C & uift ufg vl @ SR <, UAS U & 99 8 F 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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10.

OR(3721d1)

The air supplied to a room of a building in winter
is to be at 17°C and have a relative humidity of
60% if the barometric pressure is 1.01325 bar. Find
(1) Specific humidity

(i1) Dew point temperature

4l H U 3ARA & HR H 9] "ol Srdr @
S 179C 9T WTUfdrd sedar 60% R & IR
JIYHSA 19 1.01325 R @ AT B |

(i) faR¥re amdar

(i) 3T a5, Ao

Define human comfort and explain the factors

which affect human comfort.
8

AEd d%e dl IRATT & Td yHarfad &
dTel dRBI BT qui-] B |

OR (3121ar)

In an ideal vapour compression refrigeration cycle
the refrigeration effect is 80 KI/Kg of refrigerant
flow. The COP is 4. If the flow of the refrigerant is
2Kg/sec. Find the heat rejected in the condensor.

0T6031

(i)

(iif)

(iii)

(iv)

3 25605B

fodl srfe yehias &1 S=a =1 a
®T IAUId 5/4 © A $9BI COP BIMT?
(1) 2
@3
(w) 4
(®) s

If the COP of refrigerator is 3, then COP of
heat pump is :

(a5

(b)4

(c)3

(d)2

gfe gefiid®d &1 COP3 & a ™1 9y

Which of the following statement is true?
(@) (C.O.P)g=(C.O.P)yp +

(b) (C.O.P)g=(C.O.P)yp +

(¢) (C.O.P)yp=(C.O.P)g+1

(d) None of these

P.T.O
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GROUP -C (vi)
Answer all Five Questions .

gl uig 93 & SN < |

8x5=40

7. Find the expression of ideal C.O.P for vapour
absorption refrigeration system.

8
g QeEIRUeE yefiaq ugfa &1 ansel C.0.P (vii)
D1 Foid Fab1fery |
OR (3121d1)

Explain simple absorption system with neat sketch.
el S QYO Ugfa &1 afra aui &Y | (vii)

8. Abell- coleman air refrigeration, air enters at -5°C
at 1 bar and compressed 1sentropically to 5 bar and
cooled to 27°C at upper pressure then expanded

1 sentropically to initial pressure. Find C.O.P of cycle.
8

Uh ddd —Ppiedd gefias & gar -5CH 1 IR
R gaaR Ggiw QY 4 5 IR 9@ ddifsa
foar sirar @ don S ST 919 W 27°C d@
g1 f&ar orar @ | aguRid o <9 d®
wE™ fafy @ garor fear sar 2| 9% &1
C.0.P fa@rfery |

(viii)

5 25605B

T Xflholver oy dfis®d &) sroxd
G £ S 5 22 S BT STl © |

(31) sraznyer yefiaa ¥fbolvex

(@) a9 wdrs YfbolRex

(4) soidgiarad Xfbolver

(]) ®rfe Ifpoex

In vapour absorption refrigeration system,
the compressor is replaced by:

(a) Liquid pump

(b) Generator

(c) Absorber and generator

(d) Absorber, generator and liquid pump

Ty gdrs fboReE ugfa d ddiss

(|) JaeNydH qAT S+vex
(%) sraeny®, SARCSY dAT &9 U

A refrigerant with the highest critical
pressure is know as...........

(a) R-11

(b) R-12

(c) R-22

(d) Amonia

P.T.O
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arg Wdtsd &1 9y gfias ugfa & SuR A
ford |

OR (3121a1)

A machine works on reversed carnot cycle. It works
between temperature limit in 300K and 400K. Find
the C.O.P. of machine.

U 7T Socl SIFIC dh UR B Hdl © |
I8 300K 9T 400K argEr< & HHar & €=
&l dxar 2 | 929 &1 C.O.P. fa1d |

What is relative humidity? How is it defined as the

ratio of two mole fractions. 4

arufere srdar /T 87 39 ol #id 3(I; b
rgurd ¥ »9 g gar 21

OR (3121an)

In a absorption type refrigeration system, heating
cooling and refrigeration take place at the
temperature 100°C, 20°C and -10°C. Find the
theoretical C.O.P. of system.

0T6031

(x)

(xi)

(xi)

(xii)

7 25605B

e Mpoe & qifsa T -
(31) @9 FaATTH

() arfere wifae amas =

(|) 3fere arsas @) [ ST
(%) Swiaa g+

Specific humidity is also called:
(a) Relative humidity

(b) Humidity ratio

(c) Absolute humidity

(d) None of these

The Curved lime on psychometric chart
indicates :

(a) Dry bulb temperature

(b) Wet bulb temperature

(c) Dew point temperature

(d) Relative humidity

P.T.O
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(xx) TP ATshIA) Ufshar § Gdg Sw1
30 Kl/sec T W ST 20 Kl/sec &
[AY SSHT ... D dIXTEX BT |

(3) 03
G
(®) o0.67
(®) 15
GROUPB
Answer all Five Questions. 4x5=20

gl ufg yel & SR T |
2. Explain the principle of evaporative refrigeration

system.
4

arefievefi yfiaq ugfa & Rigia @ aaren

N |

0T6031

9 25605B

(xiv) 9] B FUED SHST q ... Hedl ®

(xv)

(xv)

(xvi)

(31) 3d 9ed ATUHE
(8) amfére smaarn
(d) TP dod ATIHTH
(2) faf¥rse smrdar

During dehumdification process ................
remains constant.

(a) Wet bulb temperature

(b) Relative humidity

(c) Dry bulb temperature

(d) Specific humidity

Air conditioning means:
(a) Cooling

(b) Heating

(c) Dehumidifying

(d) All of these
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